N = 0l & At & Ml A
P019UE % 2 3 AWSIH HMBD
SHTHMED
BH: PHY AFE =B
Sel NANE YRRz (29l & 2)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
N3 1t 972,583 967,675 4,908
= 88,680 88,680 0
= 883,903 878,995 4,908
TAHYS oHEA =P 902,528 912,181 A9,653
= 88,680 88,680 0
= 813,848 823,501 A9,653
ANLENE =T 210,739 184,820 25,919
KA =2t 99,515 73,596 25,919
403 A X EHS K= 0l A 26,499 580 25,919
02 BJI2SHUS =R AE AL 26,499 580 25,919
OXZAN 23 23 23] 25,919 0 25,919
XIMITH KSR S AIAE 7 (18)
25,919,000& 25,919 0 25,919
A& Al &2t 180,396 198,192 AT7,796
M2l 180,396 198,192 A17,796
101 Q124 H] 17,796 35,592 A1T7,796
04 JIAtHZ22XSE* 17,796 35,592 AT7,796
OMgHd= T/FE 22 17,796 35,592 A17,796
-2 Z & 16,032,000& 16,032 32,064 A 16,032
“ARIEE D2 RYE3 338 1,764,000& 1,764 3,528 N 1,764
A& AS AR 69,876 68,916 960
NYASH 20 S22 69,876 68,916 960
202 o4 Hl 7,960 7,000 960
01 S LHOHI 7,960 7,000 960
OXNYASH SDHYD =T 0IH|
3 & 7,960,000 7,960 7,000 960
NEgMe+= 2 87,565 106,301 N 18,736
NI2l==2 2te| 87,565 106,301 N 18,736
403 A X EHS =0l A 6,836 25,572 N 18,736
02 BJI2SH U= AAE AL 6,836 25,572 N 18,736
OXM BEXNLHMALLF LAY DHAL
a Z & 6,836,000& 6,836 25,572 N 18,736
Heass(HE) 14,561 0 14,561
SIS (MED) 14,561 0 14,561
HdEE EXAY BHE= 14,561 0 14,561
802 gt = Il EF 14,561 0 14,561
01 =nE2x=ttet= 14,561 0 14,561
ONE eIt ZA(EXR) 14,329,870& 14,330 0 14,330
OME =t ZA(EX)(0IXR) 230,990& 231 0 231




